

# NOTES ON FUZZY FILTERS OF PSEUDO CI-FILTERS.

NEDA SHOJAEI<sup>1</sup>, ARSHAM BORUMAND SAEID<sup>2</sup> AND HOJAT BABAEI<sup>3</sup>

**ABSTRACT.** In this paper, the concept of fuzzy pseudo CI-filter is introduced and we show the equivalents of this definition. With the upper level set, the relationship between the pseudo CI-filter and the fuzzy pseudo CI-filter is shown and this relationship is illustrated with an example.

Fuzzy pseudo q-CI-filters and fuzzy pseudo a-CI-filters in a pseudo CI-algebra are the next aim of this paper. It is shown that each fuzzy pseudo q-CI-filters (Or fuzzy pseudo a-CI-filters) is a fuzzy pseudo CI-filter, but conversely is not true. We put some conditions on the fuzzy pseudo CI-filter, such that the fuzzy pseudo CI-filter becomes fuzzy pseudo q-CI-filters (Or fuzzy pseudo a-CI-filters). Fuzzy pseudo CI-filters generated by a fuzzy set is another aim that will be studied in this article.

Finally, Noetherian and Artinian pseudo CI-algebras are introduced and their properties are stated. By a strictly ascending sequence of pseudo CI-filter of pseudo CI-algebra and any strictly decreasing sequence in  $(0, 1)$ , we construct a fuzzy pseudo CI-filter.

**Keywords:** Pseudo CI-algebra, pseudo fuzzy CI-filter, generated fuzzy pseudo CI-filters

## 1. Introduction and Preliminaries

**1.Introduction.** In 1966, Y. Imai and K. Iséki [10] introduced the classes of abstract algebras, BCK-algebra. The BCI-algebras [10], BCH-algebras [9] and BE-algebras [11] was introduced as BCK-algebras generalization. Meng [14] defined the notion of CI-algebras as a generalization of BE-algebras. The notation of pseudo CI-algebras introduced by A. borumand. et.al. [15], they defined the class of pseudo CI-algebras and studied some of its subclasses.

The concept of filters plays an important role in studying logical algebras. Meng [13] gave a procedure to generate a filter by a subset in a transitive BE-algebra and gave some characterizations of Noetherian and Artinian BE-algebras and proved that in transitive BE-algebras, the notion of ideals is equivalent to one of filters. Furthermore, he discussed on relations between singular CI-algebras and Abelian groups [14, 13]. After the concept of fuzzy sets was introduced by Zadeh [21], several studies were conducted on the generalization of then notion of fuzzy sets. Fuzzy ideas have been applied to algebraic structures. From the logic point of view, the sets of provable formulas in corresponding systems can be described by (fuzzy) filters of those algebraic semantics. Furthermore, fuzzy filter ideas function well in studying of algebraic structures. In lattice implication algebras, fuzzy positive implicative filters was introduced by Y. Xu et al.[17]. Further studies on fuzzy filters in BL-algebra were conducted by L.Z. Liu and K.T. Li in 2005 [12]. Some types of filters in BE-algebras have been widely studied and many important results are obtained [3]. Dymek et al. [8] applied the fuzzy set theory to filters of BE-algebras and later S. S. Ahn et al. [2] introduced the notion of fuzzy (implicative, positive implicative, fantastic) filters. Wang and Xin solved an open problem in pseudo BL-algebras between fuzzy normal and fuzzy Boolean filter [20]. N. Shojaei. et.al. [16] introduced the notion of pseudo CI-filter in a pseudo CI-algebra.

Since fuzzy filters are a useful tool to obtain results on algebraic structures of logic algebras. So, in this paper the concept of fuzzy pseudo CI-filter is introduced and equivalent propositions are found for this definition. We study the pseudo homomorphism of fuzzy pseudo CI-filters and the relationship between the image and the preimage of a fuzzy pseudo CI-filter by pseudo homomorphisms.

Fuzzy pseudo a-CI-filters and fuzzy pseudo q-CI-filters in a pseudo CI-algebra is the another aim of this paper. It is proved that each pseudo q-CI-filters (pseudo a-CI-filters) is also a pseudo CI-filter, but with an example shown the converse is not true, we find some conditions where the converse is also true. Fuzzy pseudo CI-filters generated by a fuzzy set are also studied in this paper.

Finally, Noetherian and Artinian fuzzy pseudo CI-algebras are introduced. we show that every CI-algebra  $X$  is Noetherian, iff, for each fuzzy pseudo CI-filter  $\mu$  of  $X$ ,  $Im(\mu) = \{\mu(x) : x \in X\}$  is a well-ordered subset of  $[0, 1]$ , and so, for every fuzzy pseudo CI-filter of  $X$ , if its image is a finite set, then  $X$  is Artinian but by an example we show that the converse is not true.

**Definition 1.1.** [16] An algebra  $X = (X; \rightarrow, \rightsquigarrow, 1)$  of type  $(2; 2; 0)$  is a *pseudo CI-algebra* if it satisfies;

- (pCI1)  $x \rightarrow x = x \rightsquigarrow x = 1$ ,
- (pCI2)  $1 \rightarrow x = 1 \rightsquigarrow x = x$ ,
- (pCI3)  $x \rightarrow (y \rightsquigarrow z) = y \rightsquigarrow (x \rightarrow z)$ ,
- (pCI4)  $x \rightarrow y = 1 \Leftrightarrow x \rightsquigarrow y = 1$ .

The relation " $\leq$ " on  $X$  define by,  $x \leq y$  iff  $x \rightarrow y = x \rightsquigarrow y = 1$ .

If  $(X; \rightarrow, \rightsquigarrow, 1)$  is a pseudo CI-algebra satisfying  $x \rightarrow y = x \rightsquigarrow y$ ; for all  $x, y \in X$ , then  $(X; \rightarrow, \rightsquigarrow, 1)$  is a CI-algebra.

**Definition 1.2.** [16] Let  $a$  be an element of a pseudo CI-algebra  $X = (X; \rightarrow, \rightsquigarrow, 1)$ . An element  $a$  is said to be an atom in  $X$  if for any  $x \in X$ ,  $a \rightarrow x = 1$  (or  $a \rightsquigarrow x = 1$ ) implies  $a = x$ .

**Example 1.3.** [16] Let  $X = \{1, a, b, c, d\}$ . Define the operations  $\rightarrow$  and  $\rightsquigarrow$  on  $X$  by the following tables:

$\rightarrow$	1	a	b	c	d
1	1	a	b	c	d
a	1	1	c	c	1
b	1	d	1	1	d
c	1	d	1	1	d
d	1	1	c	c	1

$\rightsquigarrow$	1	a	b	c	d
1	1	a	b	c	d
a	1	1	b	c	1
b	1	d	1	1	d
c	1	d	1	1	d
d	1	1	b	c	1

Then  $X$  is a pseudo CI-algebra.

**Proposition 1.4.** [15] If  $X = (X; \rightarrow, \rightsquigarrow, 1)$  is a pseudo CI-algebra, then for all  $x, y, z \in X$ , we have:

- (1)  $x \leq (x \rightarrow y) \rightsquigarrow y$ ,  $x \leq (x \rightsquigarrow y) \rightarrow y$ ,
- (2)  $x \leq y \rightarrow z \Leftrightarrow y \leq x \rightsquigarrow z$ ,
- (3)  $(x \rightarrow y) \rightarrow 1 = (x \rightarrow 1) \rightsquigarrow (y \rightsquigarrow 1)$ ,  $(x \rightsquigarrow y) \rightsquigarrow 1 = (x \rightsquigarrow 1) \rightarrow (y \rightarrow 1)$ ,
- (4)  $x \rightarrow 1 = x \rightsquigarrow 1$ ,
- (5)  $x \leq y$  implies  $x \rightarrow 1 = y \rightarrow 1$ .

**Proposition 1.5.** [16] In a pseudo CI-algebra  $X$ , for all  $x, y \in X$ , the following holds:

- (1) If  $y \leq 1$  then  $x \rightarrow (y \rightsquigarrow x) = 1$  and  $x \rightsquigarrow (y \rightarrow x) = 1$ ,
- (2) If  $y \leq 1$  then  $x \rightsquigarrow (y \rightsquigarrow x) = 1$  and  $x \rightarrow (y \rightarrow x) = 1$ ,
- (3)  $x \rightsquigarrow ((x \rightsquigarrow y) \rightarrow y) = 1$  and  $x \rightarrow ((x \rightarrow y) \rightsquigarrow y) = 1$ ,
- (4)  $(x \rightarrow 1) \rightarrow 1 = (x \rightarrow 1) \rightsquigarrow 1$  and  $(x \rightsquigarrow 1) \rightsquigarrow 1 = (x \rightsquigarrow 1) \rightarrow 1$ ,

**Example 1.6.** [18] Let  $X = \{1, a, b, c, d, e\}$ . Define the operations  $\rightarrow$  and  $\rightsquigarrow$  on  $X$  by the following tables:

$\rightarrow$	1	a	b	c	d	e
1	1	a	b	c	d	e
a	a	1	c	b	e	d
b	b	d	1	e	a	c
c	d	b	e	1	c	a
d	c	e	a	d	1	b
e	e	c	d	a	b	1

$\rightsquigarrow$	1	a	b	c	d	e
1	1	a	b	c	d	e
a	a	1	d	e	b	c
b	b	c	1	a	e	d
c	d	e	a	1	c	b
d	c	b	e	d	1	a
e	e	d	c	b	a	1

Then  $X = (X; \rightarrow, \rightsquigarrow, 1)$  is a pseudo CI-algebra which is not a pseudo BE-algebra. Because  $a \rightarrow 1 = a \neq 1$  and  $a \rightsquigarrow 1 = a \neq 1$ .

**Proposition 1.7.** If  $X$  be a pseudo CI-algebra and  $b, c \in X$  such that  $b \rightarrow a = c \rightarrow a$  and  $b \rightsquigarrow a = c \rightsquigarrow a$  for some  $a \in X$  then;

$$b \rightarrow 1 = c \rightarrow 1 \text{ and } b \rightsquigarrow 1 = c \rightsquigarrow 1.$$

**Definition 1.8.** A non-empty subset  $F$  of  $X$  is called a pseudo CI-filter of  $X = (X; \rightarrow, \rightsquigarrow, 1)$  if it satisfies in the following axioms:

- (F1)  $1 \in F$ ,  
(F2) If  $x \in F$  and  $x \rightarrow y \in F$  imply  $y \in F$ , for all  $x, y \in X$ .

A pseudo CI-filter  $F$  is proper if and only if  $F \neq X$ .

A pseudo CI-filter  $F$  is called closed pseudo CI-filter of  $X$  if  $x \rightarrow 1, x \rightsquigarrow 1 \in F$  for all  $x \in F$ .

**Example 1.9.** Let  $(G, \cdot)$  be a group with identity element  $e$ . Define the operations  $\rightarrow$  and  $\rightsquigarrow$  on  $G$  by

$$a \rightarrow b = a^{-1}b \text{ and } a \rightsquigarrow b = ba^{-1} \text{ for all } a, b \in G. \text{ Then } (G, \rightarrow, \rightsquigarrow, e) \text{ is a pseudo CI-algebra.}$$

**Definition 1.10.** Let  $X$  be a set. A fuzzy set in  $X$  is a function  $\mu : X \rightarrow [0, 1]$ .

For any fuzzy sets  $\mu$  and  $\nu$  in  $X$ , we define,

$$(\mu \vee \nu)(x) = \mu(x) \vee \nu(x).$$

$$(\mu \wedge \nu)(x) = \mu(x) \wedge \nu(x).$$

The relation " $\leq$ " in  $X$  defined by:  $\mu \leq \nu$ , if and only if,  $\mu(x) \leq \nu(x)$  for all  $x \in X$ . (This relation is an order relation in the set of fuzzy sets in  $X$ ).

For  $\Gamma \in [0, 1]$  we defined  $\bigwedge \Gamma = \inf \Gamma$  and  $\bigvee \Gamma = \sup \Gamma$ . Obviously, if  $\Gamma = \{\alpha, \beta\}$ , then  $\alpha \wedge \beta = \min\{\alpha, \beta\}$  and  $\alpha \vee \beta = \max\{\alpha, \beta\}$ .

**Definition 1.11.** Let  $X$  and  $Y$  be any two sets,  $\mu$  be any fuzzy set in  $X$  and  $f : X \rightarrow Y$  be any function. Set  $f^{-1}(y) = \{x \in X : f(x) = y\}$  for  $y \in Y$ . The fuzzy set  $\nu$  in  $Y$  defined by;

$$\nu(x) = \begin{cases} \bigvee \{\mu(x) : x \in f^{-1}(y)\} & \text{if } f^{-1}(y) \neq \phi, \\ 0 & \text{otherwise.} \end{cases}$$

for all  $y \in Y$ , is called the image of  $\mu$  under  $f$  and is denoted by  $f(\mu)$ . Let  $X$  and  $Y$  be any two sets,  $f : X \rightarrow Y$  be any function and  $\nu$  be any fuzzy set in  $f(X)$ . The fuzzy set  $\mu$  in  $X$  defined by,

$$\mu(x) = \nu(f(x)), \text{ for all } x \in X,$$

is called the preimage of  $\nu$  under  $f$  and is denoted by  $f^{-1}(\nu)$ .

**Lemma 1.12.** Let  $X$  be a transitive pseudo CI-algebra. Let  $n, m$  be natural numbers. If in  $X$ ;

$$(1) b \rightarrow (a \rightarrow x) = 1,$$

$$(2) (...a_n \rightarrow (a_{n-1} \rightarrow ... \rightarrow (a_1 \rightarrow a))) = 1,$$

$$(3) (...b_m \rightarrow (b_{m-1} \rightarrow ... \rightarrow (b_1 \rightarrow b))) = 1.$$

$$\text{then, } (...b_m \rightarrow (b_{m-1} \rightarrow ... \rightarrow (b_1 \rightarrow a_n \rightarrow (a_{n-1} \rightarrow ... \rightarrow (a_1 \rightarrow x)))) = 1.$$

**Proof.** Since  $b \rightarrow (a \rightarrow x) = 1$ , by (pCI4),

$$b \rightsquigarrow (a \rightarrow x) = 1.$$

From (pCI3) we have,

$$a \rightarrow (b \rightsquigarrow x) = 1,$$

that is,

$$a \leq (b \rightsquigarrow x).$$

Hence, by proposition 4.7 (16),

$$(a_1 \rightarrow a) \leq (a_1 \rightarrow (b \rightsquigarrow x)).$$

Next, again by proposition 4.7 (16), we have;

$$(a_2 \rightarrow (a_1 \rightarrow a)) \leq (a_2 \rightarrow (a_1 \rightarrow (b \rightsquigarrow x))).$$

Repeating the process we get;

$$1 = (...a_n \rightarrow (a_{n-1} \rightarrow ... \rightarrow (a_1 \rightarrow a))) \leq (...a_n \rightarrow (a_{n-1} \rightarrow ... \rightarrow (a_2 \rightarrow (a_1 \rightarrow (b \rightsquigarrow x))))).$$

So,

$$(...a_n \rightarrow (a_{n-1} \rightarrow ... \rightarrow (a_2 \rightarrow (a_1 \rightarrow (b \rightsquigarrow x)))) = 1.$$

From (pCI3),

$$(b \rightsquigarrow (...a_n \rightarrow (a_{n-1} \rightarrow ... \rightarrow (a_2 \rightarrow (a_1 \rightarrow x))))) = 1.$$

That is,

$$b \leq (...a_n \rightarrow (a_{n-1} \rightarrow ... \rightarrow (a_2 \rightarrow (a_1 \rightarrow x)))).$$

Hence, by proposition 4.7 (16),

$$1 = (...b_m(\rightarrow (b_{m-1} \rightarrow ... \rightarrow (b_1 \rightarrow b))) \leq (...b_m \rightarrow (b_{m-1} \rightarrow ... \rightarrow (b_1 \rightarrow a_n \rightarrow (a_{n-1} \rightarrow ... \rightarrow (a_1 \rightarrow x))))).$$

Therefore,

$$(...b_m \rightarrow (b_{m-1} \rightarrow ... \rightarrow (b_1 \rightarrow a_n \rightarrow (a_{n-1} \rightarrow ... \rightarrow (a_1 \rightarrow x)))) = 1.$$

## 2. Fuzzy pseudo CI-filters

In the following, let  $X$  denote a pseudo CI-algebra unless otherwise specified.

**Definition 2.1.** A fuzzy set  $\mu$  in  $X$  is called a fuzzy pseudo CI-filter of  $X$  if for all  $x, y, z \in X$ , it satisfies the following conditions:

$$(pFF1) \mu(1) \geq \mu(x),$$

$$(pFF2) \text{ if } x \leq y \rightarrow z, \text{ then } \mu(z) \geq \mu(x) \wedge \mu(y).$$

Let  $pFF(X)$  denote the set of all fuzzy pseudo CI-filters of a pseudo CI-algebra  $X$ .

**Example 2.2.** Let  $X = \{1, a, b, c, d\}$ . Define the operations  $\rightarrow$  and  $\rightsquigarrow$  on  $X$  by the following tables:

$\rightarrow$	1	a	b	c	d
1	1	a	b	c	d
a	1	1	c	c	1
b	1	d	1	1	d
c	1	d	1	1	d
d	1	1	c	c	1

$\rightsquigarrow$	1	a	b	c	d
1	1	a	b	c	d
a	1	1	b	c	1
b	1	d	1	1	d
c	1	d	1	1	d
d	1	1	b	c	1

Then  $X$  is a pseudo CI-algebra. Define a fuzzy set  $\mu : X \rightarrow [0, 1]$  by

$$\mu(x) = \begin{cases} 0.7 & \text{if } x = 1, \\ 0.6 & \text{if } x \in \{b, c\}, \\ 0.5 & \text{if } x \in \{a, d\}. \end{cases}$$

It is easily seen that  $\mu$  is a fuzzy pseudo CI-filter of  $X$ .

**Proposition 2.3.** Every fuzzy pseudo CI-filter  $\mu$  of  $X$  satisfies the following assertions:

if  $x, y \in X$  and  $x \leq y$ , then  $\mu(x) \leq \mu(y)$ .

**Proof.** Assume that  $x \leq y$ , so,  $x \rightsquigarrow y = 1$ . By proposition (1.4)

$$x \leq (x \rightsquigarrow y) \rightarrow y.$$

By (pFF2) and (pFF1),

$$\mu(y) \geq \mu(x) \wedge \mu(x \rightsquigarrow y) = \mu(x) \wedge \mu(1) \geq \mu(x) \wedge \mu(x) = \mu(x).$$

**Proposition 2.4.** A fuzzy set  $\mu$  in  $X$  is a fuzzy pseudo CI-filter of  $X$  if and only if  $\mu$  satisfies (pFF1) and one of the following conditions holds, for all  $x, y \in X$ :

$$(pFF3) \mu(y) \geq \mu(x) \wedge \mu(x \rightarrow y)$$

$$(pFF4) \mu(y) \geq \mu(x) \wedge \mu(x \rightsquigarrow y).$$

$$(pFF5) \text{ If } x \leq y \rightsquigarrow z, \text{ then } \mu(z) \geq \mu(x) \wedge \mu(y).$$

**Proof.**

(pFF3): Let  $\mu$  satisfy (pFF3) and  $x \leq y \rightarrow z$ . By (pFF3) and Proposition (2.3), we have;

$$\mu(z) \geq \mu(y) \wedge \mu(y \rightarrow z) \geq \mu(y) \wedge \mu(x).$$

Thus,  $\mu$  satisfies (pFF2), hence  $\mu$  is a fuzzy pseudo CI-filter of  $X$ .

Conversely, Assume that  $\mu$  be a fuzzy pseudo CI-filter. Since  $x \rightarrow y \leq x \rightarrow y$ , by (pFF2) we obtain;

$$\mu(y) \geq \mu(x \rightarrow y) \wedge \mu(x).$$

Thus,  $\mu$  satisfies (pFF3).

(pFF4): Is similar (pFF3).

(pFF5): Let  $\mu$  be a fuzzy pseudo CI-filter and  $x \leq y \rightsquigarrow z$ , then  $x \rightarrow (y \rightsquigarrow z) = 1$ , by (pCI3),

$$y \rightsquigarrow (x \rightarrow z) = 1.$$

Therefore,

$$y \leq x \rightarrow z,$$

by (pFF2), we obtain,

$$\mu(z) \geq \mu(x) \wedge \mu(y).$$

Conversely, Let  $\mu$  satisfy (pFF5). Since  $x \rightsquigarrow y \leq x \rightsquigarrow y$ . By (pFF5),

$$\mu(y) \geq \mu(x) \wedge \mu(x \rightsquigarrow y).$$

Thus,  $\mu$  satisfies (pFF4), hence  $\mu$  is a fuzzy pseudo CI-filter of  $X$ .

**Corollary 2.5.** If  $a_n \rightarrow (a_{n-1} \rightarrow \dots \rightarrow (a_1 \rightarrow x)) = 1$ , then  $\mu(x) \geq (\mu(a_1) \wedge \mu(a_2) \wedge \dots \wedge \mu(a_n))$ .

**Proposition 2.6.** Let  $\mu$  be a fuzzy pseudo CI-filter. Then:

$$(2.1) \quad \mu((x \rightarrow 1) \rightsquigarrow 1) = \mu((x \rightsquigarrow 1) \rightarrow 1) \geq \mu(x),$$

*Proof.* Let  $x \in X$ . From (1.4)(4)  $x \rightarrow 1 = x \rightsquigarrow 1$ . So,

$$\mu((x \rightsquigarrow 1) \rightarrow 1) = \mu((x \rightarrow 1) \rightsquigarrow 1).$$

It follows from (pFF4), (pCI3), (pCI1) and (pFF1) that,

$$\mu((x \rightsquigarrow 1) \rightarrow 1) \geq \mu(x \rightsquigarrow ((x \rightsquigarrow 1) \rightarrow 1)) \wedge \mu(x) = \mu((x \rightsquigarrow 1) \rightarrow (x \rightsquigarrow 1)) \wedge \mu(x) = \mu(1) \wedge \mu(x) = \mu(x).$$

This completes the proof.

**Proposition 2.7.** Let  $\mu$  be a fuzzy pseudo CI-filter of  $X$ . If  $\mu^*$  defined in  $X$  by;

$$(2.2) \quad \mu^*(x) = \mu((x \rightsquigarrow 1) \rightarrow 1) \text{ for all } x \in X,$$

then  $\mu^*$  is a fuzzy pseudo CI-filter of  $X$  and  $\mu \leq \mu^*$ .

**Proof.** For any  $x \in X$ , by using (pFF1),  $\mu^*(1) = \mu((1 \rightsquigarrow 1) \rightarrow 1) = \mu(1) \geq \mu((x \rightsquigarrow 1) \rightarrow 1) = \mu^*(x)$ .

Let  $x, y \in X$ . By (1.4)(4),(3);

$$(2.3) \quad \begin{aligned} \mu^*(x \rightarrow y) &= \mu(((x \rightarrow y) \rightsquigarrow 1) \rightarrow 1) = \mu(((x \rightarrow y) \rightarrow 1) \rightsquigarrow 1) = \mu(((x \rightsquigarrow 1) \rightsquigarrow (y \rightarrow 1)) \rightsquigarrow 1) = \\ &= \mu(((x \rightsquigarrow 1) \rightarrow 1) \rightarrow ((y \rightarrow 1)) \rightsquigarrow 1) \end{aligned}$$

Thus, from 2.1. and 2.3.

$$\mu^*(x \rightarrow y) \wedge \mu^*(x) = \mu(((x \rightsquigarrow 1) \rightarrow 1) \rightarrow ((y \rightarrow 1)) \rightsquigarrow 1) \wedge (\mu((x \rightsquigarrow 1) \rightarrow 1)) \leq \mu((y \rightsquigarrow 1) \rightarrow 1) = \mu^*(y).$$

Therefore,  $\mu^*$  is a pseudo fuzzy pseudo CI-filter.

By Proposition (2.6),

$$\mu^*(x) = \mu((x \rightsquigarrow 1) \rightarrow 1) \geq \mu(x)$$

for all  $x \in X$ . So  $\mu^* \geq \mu$ .

**Example 2.8.** Let  $F$  be pseudo CI-filter of a pseudo CI-algebra  $X$  and let  $a, b \in [0, 1]$  with  $a \geq b$ . Define  $\mu : X \rightarrow [0, 1]$  as follows:

$$\mu(x) = \begin{cases} a & \text{if } x \in F, \\ b & \text{if } x \notin F. \end{cases}$$

Since  $1 \in F$ , then  $\mu(1) = a \geq \mu(x)$  for all  $x \in X$ . To prove (pFF2), let  $x, y \in X$ . If  $x \in F$ , then  $\mu(x) = a \geq \mu(x \rightarrow y) \wedge \mu(y)$ . Suppose now that  $x \notin F$ . Since  $F$  is pseudo CI-filter so,  $x \rightarrow y \notin F$  or  $y \notin F$ . Therefore,  $\mu(x \rightarrow y) \wedge \mu(y) = b = \mu(x)$ . Thus  $\mu \in pFF(X)$ .

In particular, the characteristic function  $\chi_F$  of  $F$  define by:

$$\chi_F(x) = \begin{cases} 1 & \text{if } x \in F, \\ 0 & \text{if } x \notin F. \end{cases}$$

is a fuzzy pseudo CI-filter of  $X$ .

**Example 2.9.** (i) Assume the group  $U(5)$  under multiplication modulo 5. By (1.9),  $(G, \rightarrow, \rightsquigarrow, 1)$  is a pseudo CI-algebra defined  $a \rightarrow b = a^{-1}b$  and  $a \rightsquigarrow b = ba^{-1}$  for all  $a, b \in G$ . Let  $\mu(1) = 1, \mu(3) = 0.6$  and  $\mu(2) = \mu(4) = 0.4$ , then  $\mu$  is fuzzy pseudo CI-filter on  $U(5)$  and  $\mu^*(x) = \mu((x \rightsquigarrow 1) \rightarrow 1) = \mu(x)$ . So  $\mu^* = \mu$ .

(ii) If  $\mu$  be a fuzzy pseudo CI-filter on  $X$  and for all  $x \in X, x \leq 1$ , then  $\mu^*(x) = \mu((x \rightarrow 1) \rightsquigarrow 1) = \mu(1)$ . (This shows that may  $\mu^* \neq \mu$ ).

The set  $U(\mu, \alpha) = \{x \in X : \mu(x) \geq \alpha\}$  and  $L(\mu, \alpha) = \{x \in X : \mu(x) \leq \alpha\}$  which are called, respectively, upper  $\alpha$ -level subset and lower  $\alpha$ -level subset of  $X$ , for  $\alpha \in [0, 1]$ .

**Proposition 2.10.** A fuzzy set  $\mu$  in  $X$  is a fuzzy pseudo CI-filter of  $X$  if and only if its nonempty upper  $\alpha$  - level subset  $U(\mu, \alpha)$  is a pseudo CI-filter of  $X$ , for all  $\alpha \in [0, 1]$ .

**Proof.** Let  $\mu$  be a fuzzy pseudo CI-filter of  $X$ , and let  $\alpha \in [0, 1]$ . Assume  $U(\mu, \alpha) \neq \emptyset$ . Then there exists  $a \in X$  such that  $\mu(a) \geq \alpha$ . Since  $\mu$  is a fuzzy pseudo CI-filter, by (pFF1)  $\mu(1) \geq \mu(a) \geq \alpha$ , we have  $1 \in U(\mu, \alpha)$ . Let  $x, x \rightarrow y \in U(\mu, \alpha)$ . Therefore  $\mu(x) \geq \alpha$  and  $\mu(x \rightarrow y) \geq \alpha$ . It follows from (pFF2) that  $\mu(y) \geq \mu(x) \wedge \mu(x \rightarrow y) \geq \alpha$ . So,  $y \in U(\mu, \alpha)$ . Hence  $U(\mu, \alpha)$  is a pseudo CI-filter of  $X$ .

Conversely, suppose that for each  $\alpha \in [0, 1]$ ,  $U(\mu, \alpha) = \emptyset$  or  $U(\mu, \alpha)$  be a pseudo CI-filter of  $X$ . If (pFF1) does not hold, then there exists  $a \in X$  such that  $\mu(1) < \mu(a) = \beta$ . Then  $a \in U(\mu, \beta) \neq \emptyset$  and by assumption,  $U(\mu, \beta)$  is a pseudo CI-filter of  $X$ . Hence  $1 \in U(\mu, \beta)$  so,  $\mu(1) \geq \beta$ . This is a contradiction, and so (pFF1) holds.

Now, assume that (pFF2) is not satisfied. Then there are  $a, b \in X$  such that  $\mu(b) < \mu(a) \wedge \mu(a \rightarrow b)$ . Taking  $\beta = \frac{1}{2}(\mu(b) + (\mu(a) \wedge \mu(a \rightarrow b)))$ , we get  $\mu(b) < \beta < \mu(a) \wedge \mu(a \rightarrow b)$ . Thus  $\beta < \mu(a)$  and  $\beta < \mu(a \rightarrow b)$ . Therefore,  $a, a \rightarrow b \in U(\mu, \beta)$  but  $b \notin U(\mu, \beta)$ . This is impossible, and so  $\mu$  is a fuzzy pseudo CI-filter.

**Corollary 2.11.** If  $\mu$  is a fuzzy pseudo CI-filter of  $X$  then:

- (a) The set  $X_a = \{x \in X : \mu(x) \geq \mu(a)\}$  is a pseudo CI-filter of  $X$  for all  $a \in X$ .
- (b) The set  $X_\mu = \{x \in X : \mu(x) = \mu(1)\}$  is a pseudo CI-filter of  $X$ .

The following example shows that the converse of Corollary (2.11)(b) is not true in general.

**Example 2.12.** Let  $X$  be a pseudo CI- algebra. Define a fuzzy set  $\mu$  in  $X$  by:

$$\mu(x) = \begin{cases} 0.1 & \text{if } x = 1 \\ 0.2 & \text{otherwise.} \end{cases}$$

Then  $X_\mu = \{1\}$  and it is a pseudo CI-filter of  $X$  but  $\mu$  is not a fuzzy pseudo CI-filter, since  $\mu$  does not satisfy (pFF1).

**Corollary 2.13.** Let  $I$  be a nonempty set. Assume  $\mu_i \in pFF(X)$  for  $i \in I$ . Then  $\mu = \bigwedge \{\mu_i : i \in I\}$  is fuzzy pseudo CI-filters.

**Proof.**  $\mu(1) = \bigwedge \{\mu_i(1) : i \in I\} \geq \bigwedge \{\mu_i(x) : i \in I\} = \mu(x)$ , for all  $x \in X$ . Therefore (pFF1) holds. Now, let  $x, y \in X$ . Since  $\mu_i \in pFF(X)$ , by (pFF2),  $\mu_i(y) \geq \mu_i(x \rightarrow y) \wedge \mu_i(x)$ , for all  $i \in I$ . So,  $\mu(x) = \bigwedge \{\mu_i(y) : i \in I\} \geq \bigwedge \{\mu_i(x \rightarrow y) \wedge \mu_i(x) : i \in I\} = \mu(x \rightarrow y) \wedge \mu(y)$ . Consequently, (pFF2) holds and therefore  $\mu \in pFF(X)$ .

**Example 2.14.** Let  $X = \{1, a, b, c, d, e\}$ . Define the operations " $\rightarrow$ " and " $\rightsquigarrow$ " on  $X$  as follows:

$\rightarrow$	1	a	b	c	d	e
1	1	a	b	c	d	e
a	a	1	c	c	d	1
b	b	a	1	1	1	e
c	c	a	1	1	1	e
d	d	a	1	1	1	e
e	e	a	d	d	d	1

$\rightsquigarrow$	1	a	b	c	d	e
1	1	a	b	c	d	e
a	a	1	b	c	d	1
b	b	a	1	1	1	e
c	c	a	1	1	1	e
d	d	a	1	1	1	e
e	e	a	c	c	d	1

By example (16)(4.11)  $(X, \rightarrow, \rightsquigarrow, 1)$  is a pseudo CI-algebra and;

$$F(X) = \{\{1\}, \{1, a\}, \{1, b\}, \{1, c\}, \{1, d\}, \{1, e\}, \{1, b, c, d\}, X\}$$

are pseudo CI-filter of  $X$ .

Let  $\mu$  be a fuzzy set in  $X$  such that;

$\mu(1) = \alpha_1$ ,  $\mu(a) = \alpha_2$ ,  $\mu(b) = \alpha_3$ ,  $\mu(c) = \mu(d) = \mu(e) = \alpha_4$ , where  $\alpha_1, \alpha_2, \alpha_3, \alpha_4 \in [0, 1]$  and  $\alpha_1 > \alpha_2 > \alpha_3 > \alpha_4$ .

Observe that  $\mu$  is a fuzzy pseudo CI-filter of  $X$ . It is easy to check that for all  $\alpha \in [0, 1]$ , we have

$$U(\mu, \alpha) = \begin{cases} \phi & \text{if } \alpha > \alpha_1 \\ \{1\} & \text{if } \alpha_2 < \alpha \leq \alpha_1 \\ \{1, a\} & \text{if } \alpha_3 < \alpha \leq \alpha_2 \\ \{1, a, b, c\} & \text{if } \alpha_4 < \alpha \leq \alpha_3 \\ X & \text{if } \alpha \leq \alpha_4 \end{cases}$$

Since  $\{1\}$ ,  $\{1, a\}$ ,  $\{1, a, b, c\}$  and  $X$  are pseudo CI-filter of  $X$ , from Theorem (2.10) conclude that  $\mu$  is a fuzzy

pseudo CI-filter of  $X$ .

From now, assume  $X = (X; \rightarrow, \rightsquigarrow, 1)$  and  $Y = (Y; \rightarrow', \rightsquigarrow', 1')$  be pseudo CI-algebras.

The following theorems give the homomorphic properties of pseudo fuzzy CI-algebra.

**Proposition 2.15.** *Let  $f : X \rightarrow Y$  be a surjective homomorphism and  $\mu \in pFF(Y)$ . Then  $f^{-1}(\mu) \in pFF(X)$ .*

**Proof.** Let  $x \in X$ . Since  $f(x) \in Y$  and  $\mu \in pFF(Y)$ , we have  $\mu(1) \geq \mu(f(x)) = (f^{-1}(\mu))(x)$ , but  $\mu(1) = \mu(f(1)) = (f^{-1}(\mu))(1)$ . Thus we get  $(f^{-1}(\mu))(1) \geq (f^{-1}(\mu))(x)$  for any  $x \in X$ , that is,  $f^{-1}(\mu)$  satisfies (pFF1). Now let  $x, y \in X$ . Since  $\mu \in pFF(Y)$ , we have  $\mu(f(y)) \geq \mu(f(x) \rightarrow f(y)) \wedge \mu(f(x)) = \mu(f(x \rightarrow y)) \wedge \mu(f(x))$  and hence  $f^{-1}(\mu)(y) \geq f^{-1}(\mu)(x \rightarrow y) \wedge f^{-1}(\mu)(x)$ . Consequently,  $f^{-1}(\mu) \in pFF(X)$ .

**Proposition 2.16.** *Let  $f : X \rightarrow Y$  be a homomorphism and  $\mu \in pFF(Y)$ . If  $\mu$  is constant on  $\text{Ker } f = f^{-1}(1)$ , then  $f^{-1}(f(\mu)) = \mu$ .*

**Proof.** Let  $x \in X$  and  $f(x) = y$ . Hence  $(f^{-1}(f(\mu)))(x) = (f(\mu))(f(x)) = (f(\mu))(y) = \bigvee \{\mu(a) : a \in f^{-1}(y)\}$ . For all  $a \in f^{-1}(y)$ , we have  $f(a) = f(x)$ . Then by (pCI1),  $f(a \rightarrow x) = f(a) \rightarrow f(x) = 1$ . That is,  $a \rightarrow x \in \text{Ker } f$ . Thus  $\mu(a \rightarrow x) = \mu(1)$ . Therefore,  $\mu(x) \geq \mu(a \rightarrow x) \wedge \mu(a) = \mu(1) \wedge \mu(a) = \mu(a)$ . Similarly,  $\mu(a) \geq \mu(x)$ . Hence  $\mu(x) = \mu(a)$ . Thus  $f^{-1}(f(\mu))(x) = \bigvee \{\mu(a) : a \in f^{-1}(y)\} = \mu(x)$ , i.e.,  $f^{-1}(f(\mu)) = \mu$ .

**Proposition 2.17.** *Let  $X$  and  $Y$  be pseudo CI-algebras and let  $f : X \rightarrow Y$  be a homomorphism and  $\mu \in pFF(Y)$  be such that  $X_\mu \supseteq \text{Ker } f$ . Then  $f(\mu) \in pFF(Y)$ .*

**Proof.** Since  $\mu$  is a fuzzy pseudo CI-filter of  $X$  and  $1 \in f^{-1}(1)$ , we have  $(f(\mu))(1) = \bigvee \{\mu(a) : a \in f^{-1}(1)\} = \mu(1) \geq \mu(x)$  for any  $x \in X$ . Hence  $(f(\mu))(1) \geq \bigvee \{\mu(x) : x \in f^{-1}(y)\} = (f(\mu))(y)$  for any  $y \in Y$ . Thus  $f(\mu)$  satisfies (pFF1). Suppose that  $f(\mu)(d) < f(\mu)(c \rightarrow d) \wedge f(\mu)(c)$  for some  $c, d \in Y$ . Since  $f$  is surjective, there are  $a, b \in X$  such that  $f(a) = c$  and  $f(b) = d$ . Hence  $f(\mu)(f(b)) < f(\mu)(f(a \rightarrow b)) \wedge f(\mu)(f(a))$ . Therefore  $f^{-1}(f(\mu))(b) < f^{-1}(f(\mu))(a \rightarrow b) \wedge f^{-1}(f(\mu))(a)$ . Since  $X_\mu \supseteq \text{Ker } f$ ,  $\mu$  is constant on  $\text{Ker } f$ . Hence, by Lemma (2.16), we get  $\mu(b) < \mu(a \rightarrow b) \wedge \mu(a)$ , which is a contradiction with the fact that  $\mu$  is a fuzzy pseudo CI-filter. Thus  $f(\mu) \in pFF(Y)$ .

### 3. SOME FUZZY FILTER RESULTS

**Definition 3.1.** Let  $\nu$  be a fuzzy set in  $X$ . A fuzzy pseudo CI-filter  $\mu$  of  $X$  is said to be generated by  $\nu$  if  $\nu \leq \mu$  and for any pseudo fuzzy CI-filter  $\omega$  of  $X$ ,  $\nu \leq \omega$  implies  $\mu \leq \omega$ .

The fuzzy pseudo CI-filter generated by  $\nu$  will be denoted by  $(\nu]$ . The fuzzy pseudo CI-filter  $\nu$  we can define equivalently as follows:

$$(\nu] = \bigwedge \{\omega : \omega \in pFF(X) \text{ and } \nu \leq \omega\}.$$

**Lemma 3.2.** *Let  $\mu$  and  $\nu$  be fuzzy sets of  $X$ . The following properties hold:*

(i)  $\mu \leq \nu$  implies  $(\mu] \leq (\nu]$ ,

(ii) If  $\mu$  be a fuzzy pseudo CI-filter, then  $(\mu] = \mu$ .

**proof.** (i) Since  $\mu \leq \nu$ , hence  $\{\omega : \omega \in pFF(X), \mu \leq \omega\} \subseteq \{\omega : \omega \in pFF(X), \nu \leq \omega\}$ . So  $(\mu] = \bigwedge \{\omega : \omega \in pFF(X), \mu \leq \omega\} \leq \bigwedge \{\omega : \omega \in pFF(X), \nu \leq \omega\} = (\nu]$ .

(ii) From  $\mu \in \{\omega : \omega \in pFF(X), \mu \leq \omega\}$ , it follows  $(\mu] = \mu$ .

**Proposition 3.3.** *Let  $\mu$  be a fuzzy set of a pseudo CI-algebra  $X$ . Then  $(\mu](x) = \bigvee \{\mu(a_1) \wedge \dots \wedge \mu(a_n) : (a_n \rightarrow (a_{n-1} \rightarrow \dots \rightarrow (a_1 \rightarrow x))) = 1 \text{ where } a_1, \dots, a_n \in X\}$ .*

**Proof.** Let  $\nu(x) = \bigvee \{\mu(a_1) \wedge \dots \wedge \mu(a_n) : (a_n \rightarrow (a_{n-1} \rightarrow \dots \rightarrow (a_1 \rightarrow x))) = 1 \text{ and } a_1, \dots, a_n \in X\}$ . It is easy to see that  $\nu(1) \geq \nu(x)$  for all  $x \in X$ . Now we prove that  $\nu$  satisfies (FF3). Suppose that  $b \leq (a \rightarrow x)$ , so  $b \rightarrow (a \rightarrow x) = 1$ , where  $a, b, x \in X$ . For every  $k \in \mathbb{N}$ . By the definition of  $\nu$ , we can select  $a_1, \dots, a_n, b_1, \dots, b_m \in X$  such that,

$$(a_n \rightarrow (a_{n-1} \rightarrow \dots \rightarrow (a_1 \rightarrow a))) = 1, \text{ and } \mu(a_1) \wedge \dots \wedge \mu(a_n) > \nu(a) - \frac{1}{k},$$

$$(b_m \rightarrow (b_{m-1} \rightarrow \dots \rightarrow (b_1 \rightarrow b))) = 1, \text{ and } \mu(b_1) \wedge \dots \wedge \mu(b_m) > \nu(b) - \frac{1}{k}.$$

From Lemma (1.12) it follows that  $(b_m \rightarrow (b_{m-1} \rightarrow \dots \rightarrow (b_1 \rightarrow a_n \rightarrow (a_{n-1} \rightarrow \dots \rightarrow (a_1 \rightarrow x)))) = 1$ . Therefore  $\nu(x) \geq \mu(a_1) \wedge \dots \wedge \mu(a_n \wedge \mu(b_1) \wedge \dots \wedge \mu(b_m)) > (\nu(a) - \frac{1}{k}) \wedge (\nu(b) - \frac{1}{k})$ . Hence  $\nu(x) \geq \nu(a) \wedge \nu(b)$ . So  $\nu$  is a fuzzy pseudo CI-filter.

Since  $x \rightarrow x = 1$  for all  $x \in X$ . From this we see that  $\mu(x) \leq \nu(x)$  for all  $x \in X$ . Thus  $\mu \leq \nu$ . By (3.2)  $(\mu] \leq \nu$ . Now, suppose  $\omega$  be a fuzzy pseudo CI-filter of  $X$  such that  $(\mu] \leq \omega$ . Then for any  $x \in X$  we obtain  $\nu(x) = \bigvee \{\mu(a_1) \wedge \dots \wedge \mu(a_n) : (a_n \rightarrow (a_{n-1} \rightarrow \dots \rightarrow (a_1 \rightarrow x))) = 1, a_1, \dots, a_n \in X\} \leq \bigvee \{\omega(a_1) \wedge \dots \wedge \omega(a_n) : (a_n \rightarrow (a_{n-1} \rightarrow \dots \rightarrow (a_1 \rightarrow x))) = 1, a_1, \dots, a_n \in X\}$ . If  $a_n \rightarrow (a_{n-1} \rightarrow \dots \rightarrow (a_1 \rightarrow x)) = 1$ , by note in definition (2.1)  $\omega(x) \geq (\omega(a_1) \wedge \omega(a_2) \wedge \dots \wedge \omega(a_n))$ , therefore  $\bigvee \{\omega(a_1) \wedge \dots \wedge \omega(a_n) : (a_n \rightarrow (a_{n-1} \rightarrow \dots \rightarrow (a_1 \rightarrow x))) = 1 \text{ and } a_1, \dots, a_n \in X\} \leq \omega(x)$  for all  $x \in X$ . Hence  $\nu(x) \leq \omega(x)$ . So  $\nu$  is a fuzzy pseudo filter generated by  $\mu$ ,  $(\mu] = \nu$ .

In the sequel we need the notion of fuzzy points.

**Definition 3.4.** Let  $a \in X$  and  $s \in [0, 1]$ . Define  $a_s$  be a fuzzy set in  $X$  as follows:

$$a_s(x) = \begin{cases} s & \text{if } x = a, \\ 0 & \text{if } x \neq a. \end{cases}$$

$a_s$  is called a fuzzy point in  $X$  with value  $s$  at  $a$ .

**Proposition 3.5.** Let  $\mu$  be a fuzzy pseudo CI-filter in  $X$ . If  $s, t \in [0, 1]$  satisfies  $s \geq \mu(a)$ ,  $t \geq \mu(b)$ ,  $s \wedge t \leq \mu(a \wedge b)$  where  $a, b \in X$  then;

$$(\mu \vee a_s] \wedge (\mu \vee b_t] = \mu$$

**Proof.** It is obvious that  $(\mu \vee a_s] \wedge (\mu \vee b_t] \geq \mu$ , so we need to prove the converse inequality. Consider any fixed  $x \in X$  and an arbitrary small number  $\epsilon > 0$ , it is sufficient to consider the following three cases.

*Case I.* By (3.3) There are  $a_1, \dots, a_n \in X \setminus \{a\}$  such that,

$$a_n \rightarrow (a_{n-1} \rightarrow \dots \rightarrow (a_1 \rightarrow x)) = 1, \text{ and, } (\mu \vee a_s](x) - \epsilon < \{(\mu \vee a_s](a_1) \wedge \dots \wedge (\mu \vee a_s](a_n)).$$

Since  $(\mu \vee a_s](a_i) = \mu(a_i)$ , for  $i = 1, 2, \dots, n$ , we obtain  $(\mu \vee a_s](x) < \mu(a_1) \wedge \dots \wedge (\mu(a_n) + \epsilon \leq \mu(x) + \epsilon$ .

Hence  $((\mu \vee a_s] \wedge (\mu \vee b_t])(x) < \mu(x) + \epsilon$ . Therefore  $((\mu \vee a_s] \wedge (\mu \vee b_t])(x) \leq \mu(x)$ .

*Case II.* Again, by (3.3) There are  $b_1, \dots, b_m \in X \setminus \{b\}$  such that,

$$b_n \rightarrow (b_{n-1} \rightarrow \dots \rightarrow (b_1 \rightarrow x)) = 1 \text{ and } (\mu \vee b_t](x) - \epsilon < \{(\mu \vee b_t](b_1) \wedge \dots \wedge (\mu \vee b_t](b_m)).$$

Since  $(\mu \vee b_t](b_i) = \mu(b_i)$ , for  $i = 1, 2, \dots, n$ , we obtain  $(\mu \vee b_t](x) < \mu(b_1) \wedge \dots \wedge (\mu(b_m) + \epsilon \leq \mu(x) + \epsilon$ .

Hence  $((\mu \vee b_t] \wedge (\mu \vee a_s])(x) < \mu(x) + \epsilon$ . Therefore  $((\mu \vee b_t] \wedge (\mu \vee a_s])(x) \leq \mu(x)$ .

*Case III.* There are  $a_1, \dots, a_n \in X \setminus \{a\}$  and  $b_1, \dots, b_m \in X \setminus \{b\}$ , such that:

$$a_n \rightarrow (a_{n-1} \rightarrow \dots \rightarrow (a_1 \rightarrow (a \rightarrow x))) = 1, (\mu \vee a_s](x) - \epsilon < (\mu \vee a_s](a_1) \wedge \dots \wedge (\mu \vee a_s](a_n) = \mu(a_1) \wedge \dots \wedge (\mu(a_n) \wedge s.$$

and,

$$b_n \rightarrow (b_{n-1} \rightarrow \dots \rightarrow (b_1 \rightarrow (b \rightarrow x))) = 1, (\mu \vee b_t](x) - \epsilon < (\mu \vee b_t](b_1) \wedge \dots \wedge (\mu \vee b_t](b_m) = \mu(b_1) \wedge \dots \wedge (\mu(b_m) \wedge t.$$

We have  $b_n \rightarrow (b_{n-1} \rightarrow \dots \rightarrow (b_1 \rightarrow a_n \rightarrow (a_{n-1} \rightarrow \dots \rightarrow (a_1 \rightarrow ((a \wedge b) \rightarrow x)))) = 1$  and

$$\begin{aligned} \mu(x) + \epsilon &\geq \mu(a_1) \wedge \dots \wedge (\mu(a_n) \wedge \mu(b_1) \wedge \dots \wedge (\mu(b_m) \wedge \mu(a \wedge b) + 2\epsilon \geq \mu(a_1) \wedge \dots \wedge (\mu(a_n) \wedge \mu(b_1) \wedge \\ &\dots \wedge (\mu(b_m) \wedge (s \wedge t) + 2\epsilon = [\mu(a_1) \wedge \dots \wedge \mu(a_n) \wedge s + \epsilon] \wedge [\mu(b_1) \wedge \dots \wedge \mu(b_m) \wedge t + \epsilon] = [(\mu \vee a_s](a_1) \wedge \dots \wedge \\ &(\mu \vee a_s](a_n) \wedge (\mu \vee a_s](a) + \epsilon] \wedge [(\mu \vee b_t](b_1) \wedge \dots \wedge (\mu \vee b_t](b_m) \wedge (\mu \vee b_t](b) + \epsilon] \geq (\mu \vee a_s](x) \wedge (\mu \vee b_t](x). \end{aligned}$$

Thus  $(\mu \vee a_s] \wedge (\mu \vee b_t] \leq \mu$ . So  $(\mu \vee a_s] \wedge (\mu \vee b_t] = \mu$ .

In the continuation of this section, we will study the Noetherian and Artinian pseudo CI-algebras and its relation with fuzzy pseudo CI-fuzzy filter.

**Definition 3.6.** A pseudo CI-algebra  $X$  is called Noetherian if for every ascending sequence  $F_1 \subseteq F_2 \subseteq F_3 \subseteq \dots$  of pseudo CI-filters of  $X$ , there exists  $k \in \mathbb{N}$  such that  $F_n = F_k$  for all  $n \geq k$ .

A pseudo CI-algebra  $X$  is called Artinian if for every descending sequence  $F_1 \supseteq F_2 \supseteq F_3 \supseteq \dots$  of pseudo CI-filters of  $X$ , there exists  $k \in \mathbb{N}$  such that  $F_n = F_k$  for all  $n \geq k$ .

**Example 3.7.** Let  $(X, \leq)$  be a poset with a greatest element 1. For  $x, y \in X$ , define by:

$$x \rightarrow y = x \rightsquigarrow y = \begin{cases} 1 & \text{if } x \leq y, \\ y & \text{otherwise.} \end{cases}$$

Then  $(X, \rightarrow, \rightsquigarrow, 1)$  is a pseudo CI-algebra. For every  $x \in X$  the subset  $[x, 1] = \{y \in X : x \leq y\}$  is a CI-filter of  $X$ . For  $X = Q \wedge (-\infty, 1]$  ( $Q$  is rational numbers) with ordinary  $\leq$ , then  $(X, \leq)$  is a poset and  $(X, \rightarrow, \rightsquigarrow, 1)$  is a pseudo CI-algebra. Since  $[0, 1] \subset [-1, 1] \subset \dots \subset [-n, 1] \subset \dots$  and  $[0, 1] \supset [\frac{1}{3}, 1] \supset [\frac{1}{2}, 1] \supset \dots \supset [\frac{1}{n}, 1] \supset \dots$ . Hence the pseudo CI-algebra  $(X, \rightarrow, \rightsquigarrow, 1)$  is not Noetherian and also not Artinian.

**Lemma 3.8.** Let  $F_1 \subset F_2 \subset F_3 \subset \dots$  be a strictly ascending sequence of pseudo CI-filter of  $X$  and  $t_n$  be a strictly decreasing sequence in  $(0, 1)$ . Let  $\mu$  be the fuzzy set of  $X$  defined by;

$$\mu(x) = \begin{cases} 0 & \text{if } x \notin F_n, \quad \forall n \in \mathbb{N}, \\ t_n & \text{if } x \in F_n \setminus F_{n-1}, \quad n \in \mathbb{N}. \end{cases}$$

( $F_0 = \phi$ ). Then  $\mu$  is a fuzzy CI-filter of  $X$ .



**Proof.**  $F = \bigcup_{n \in \mathbb{N}} F_n$  is a fuzzy CI-filter of  $X$ . Obviously,  $\mu(1) = t_1 \geq \mu(x)$  for all  $x \in X$ , so, (FF1) holds. Now, let  $x, y \in X$ . We have two cases.

Case 1: If  $y \notin F$ . Then  $x \rightarrow y \notin F$  or  $x \notin F$ . Therefore  $\mu(x \rightarrow y) \wedge \mu(x) = 0 = \mu(y)$ .

Case 2:  $y \in F_n \setminus F_{n-1}$  for some  $n = 1, 2, \dots$ , then  $y \notin F_{n-1}$ , therefore  $x \rightarrow y \notin F_{n-1}$  or  $x \notin F_{n-1}$ . Hence  $t_n \geq \mu(x \rightarrow y)$  or  $t_n \geq \mu(x)$ . Hence  $\mu(y) = t_n \geq \mu(x) \wedge \mu(x \rightarrow y)$ . Thus (pFF3) holds. Consequently  $\mu$  is a fuzzy pseudo CI-filter of  $X$ .

**Proposition 3.9.** Let  $X$  be pseudo CI-algebra. The following statements are equivalent:

(i)  $X$  is Noetherian,

(ii) for each fuzzy pseudo CI-filter  $\mu$  of  $X$ ,  $Im(\mu) = \{\mu(x) : x \in X\}$  is a well-ordered subset of  $[0, 1]$ .

**Proof.**

(i)  $\Rightarrow$  (ii) Let  $X$  be Noetherian and  $\mu$  a fuzzy pseudo CI-filter of  $X$  such that  $Im(\mu)$  is not a well-ordered subset of  $[0, 1]$ . Then there exists a strictly decreasing sequence  $\{\mu(x_n)\}$ , where  $x_n \in X$ . Let  $U_n = U(\mu, \mu(x_n)) = \{x \in X : \mu(x) \geq \mu(x_n)\}$  for any  $n \in \mathbb{N}$ . Then, by proposition (2.10),  $U_n$  is pseudo CI-filter of  $X$  for all  $n \in \mathbb{N}$  and  $U_1 \subset U_2 \subset U_3 \subset \dots$  is a strictly ascending sequence of pseudo CI-filter of  $X$ . This contradicts the assumption that  $X$  is Noetherian. Therefore  $Im(\mu)$  is a well-ordered set for each fuzzy pseudo CI-filter  $\mu$ .

(ii)  $\Rightarrow$  (i) Assume that for each fuzzy pseudo CI-filter  $\mu$  of  $X$ ,  $Im(\mu) = \{\mu(x) : x \in X\}$  is a well-ordered subset of  $[0, 1]$ . Suppose that  $X$  is not Noetherian. There exists a strictly ascending sequence  $F_1 \subset F_2 \subset F_3 \subset \dots$  of pseudo CI-filters of  $X$ . Let  $\mu$  be a fuzzy set of  $X$  defined by;

$$\mu(x) = \begin{cases} 0 & \text{if } x \notin F_n, \quad \forall n \in \mathbb{N}, \\ \frac{1}{n} & \text{if } x \in F_n \setminus F_{n-1}, \quad n \in \mathbb{N}. \end{cases}$$

( $F_0 = \phi$ ). By Lemma (3.8),  $\mu$  is a fuzzy pseudo CI-filter, but  $Im(\mu)$  is not a well-ordered set of  $(0, 1)$ , which is a contradiction.

**Corollary 3.10.** Let  $X$  be a pseudo CI-algebra. If for every fuzzy pseudo CI-filter  $\mu$  of  $X$ ,  $Im(\mu)$  is a finite set, then  $X$  is Noetherian.

**Proposition 3.11.** Let  $X$  be a pseudo CI-algebra and let  $S = \{s_1, s_2, \dots\} \cup \{0\}$ , where  $s_n$  is a strictly decreasing sequence in  $(0, 1)$ . Then the following conditions are equivalent:

(i)  $X$  is Noetherian,

(ii) for each fuzzy pseudo CI-filter of  $X$ , if  $Im(\mu) \subseteq S$ , then there exists  $k \in \mathbb{N}$  such that  $Im(\mu) \subseteq \{s_1, s_2, \dots, s_k\} \cup \{1\}$ .

**Proof.** (i)  $\Rightarrow$  (ii). Let  $X$  be Noetherian. Assume that  $\mu$  be fuzzy pseudo CI-filter of  $X$ , if  $Im(\mu) \subseteq S$ . From Proposition (3.9),  $Im(\mu)$  is a well-ordered subset of  $[0, 1]$ . Thus there exists  $k \in \mathbb{N}$  such that  $Im(\mu) \subseteq \{s_1, s_2, \dots, s_k\} \cup \{1\}$ .

(ii)  $\Rightarrow$  (i). Let (ii) be true. Assume that  $X$  is not Noetherian. Then there exists a strictly ascending sequence  $F_1 \subset F_2 \subset F_3 \subset \dots$  of pseudo CI-filters of  $X$ . Define a fuzzy set  $\mu$  of  $X$  by,

$$\mu(x) = \begin{cases} 0 & \text{if } x \notin F_n, \quad \forall n \in \mathbb{N}, \\ \frac{1}{n} & \text{if } x \in F_n \setminus F_{n-1} \quad n \in \mathbb{N}. \end{cases}$$

( $F_0 = \phi$ ). By Lemma (3.8),  $\mu$  is a fuzzy pseudo CI-filter, but  $Im(\mu)$  is not a well-ordered set of  $(0, 1)$ , which is a contradiction. Thus  $X$  is Noetherian.

**Proposition 3.12.** Let  $X$  be a pseudo CI-algebra and let  $T = \{t_1, t_2, \dots\} \cup \{0, 1\}$ , where  $(t_n)$  is a strictly increasing sequence in  $(0; 1)$ . Then the following conditions are equivalent:

(i)  $X$  is Artinian,

(ii) for each fuzzy pseudo CI-filter  $\mu$  of  $X$ , if  $Im(\mu) \subseteq T$ , then there exists  $k \in \mathbb{N}$  such that  $Im(\mu) \subseteq \{t_1, t_2, \dots, t_k\} \cup \{0, 1\}$ .

**Proof.** (i)  $\Rightarrow$  (ii). Suppose that  $t_{k_1} < t_{k_2} < t_{k_3} < \dots$  is a strictly increasing sequence of elements of  $Im(\mu)$ . Let  $U_m = U(\mu, t_{k_m})$  for  $m \in \mathbb{N}$ . It is immediately seen that  $U_1 \supset U_2 \supset U_3 \supset \dots$  is a strictly descending sequence of pseudo CI-filters of  $X$ . This contradicts the assumption that  $X$  is Artinian, thus there is not a strictly increasing sequence of elements of  $Im(\mu)$ .

(ii)  $\Rightarrow$  (i). Assume that (ii) is true. Suppose that  $X$  is not Artinian. Then there exists a strictly descending sequence  $F_1 \supset F_2 \supset F_3 \supset \dots$  of pseudo CI-filters of  $X$ . Let  $\mu$  in  $X$  defined by;

$$\mu(x) = \begin{cases} 0 & \text{if } x \notin F_1, \\ t_n & \text{if } x \in F_n \setminus F_{n+1}, \quad n \in \mathbb{N}, \\ 1 & \text{if } x \in \bigcap \{F_n : n \in \mathbb{N}\}. \end{cases}$$

$\mu$  is a fuzzy set of  $X$  and  $\mu(1) = 1 \geq \mu(x)$  for every  $x \in X$  so, (pFF1) holds. Now, let  $x, y \in X$ . We have three cases.

Case 1. If  $y \notin F_1$ . Then  $x \rightarrow y \notin F_1$  or  $x \notin F_1$ . Therefore  $\mu(x \rightarrow y) \wedge \mu(x) = 0 = \mu(y)$ .

Case 2. If  $y \in F_n \setminus F_{n+1}$  for some  $n = 1, 2, \dots$ , then  $y \notin F_{n+1}$ , therefore  $x \rightarrow y \notin F_{n+1}$  or  $x \notin F_{n+1}$ . Hence  $t_n \geq \mu(x \rightarrow y)$  or  $t_n \geq \mu(x)$ . Hence  $\mu(y) = t_n \geq \mu(x) \wedge \mu(x \rightarrow y)$ . Thus (pFF3) holds.

case3. If  $y \in \bigcap \{F_n : n \in N\}$ , then  $\mu(y) = 1 \geq \mu(x) \wedge \mu(x \rightarrow y)$ . Consequently  $\mu$  is a fuzzy pseudo CI-filter of  $X$ .

**Corollary 3.13.** Let  $X$  be a pseudo CI-algebra. If, for every fuzzy pseudo CI-filter  $\mu$  of  $X$ ,  $Im(\mu)$  is a finite set, then  $X$  is Artinian.

The following example shows that the converse of Corollary (3.13) does not hold.

**Example 3.14.** Let  $p$  be a prime number. Set  $X = \{z \in \mathcal{C} : z^{p^n} = 1 \text{ for some } n \geq 0\}$ . It is known that  $(X, \cdot, 1)$  is the p-quasicyclic group. Define  $x \rightarrow y = x^{-1}y$  and  $x \rightsquigarrow y = xy^{-1}$  for all  $x, y \in X$ . By (1.9)  $X = (X, \rightarrow, \rightsquigarrow, 1)$  is a pseudo CI-algebra. Let  $F_n = \{z \in \mathcal{C} : z^{p^n} = 1\}$  for  $n \in N \cup \{0\}$ . It follows easily seen that  $F$  is CI-filter of  $X$  if and only if  $F = X$  or  $F = F_n$  for some  $n \geq 0$ . We have  $F_0 = \{1\} \subset F_1 \subset F_2 \subset \dots \subset X$  and hence  $X$  is Artinian. Define  $\mu$  by,  $\mu(x) = \frac{1}{n+1}$  if  $x \in F_n \setminus F_{n-1}$  for some  $n \in N \cup \{0\}$ . Where  $F_{-1} = \phi$ .

Since  $X = \bigcup_{n \in N} F_n$ ,  $\mu$  is a fuzzy set in  $X$ . By the proof of Proposition (3.8),  $\mu$  is a fuzzy pseudo CI-filter. However,  $Im(\mu) = \{\frac{1}{n} : n \in N\}$  is not a finite set.

#### 4. SOME FUZZY PSEUDO CI-FILTERS

In this section some fuzzy pseudo CI-filters and the relationships between them and the fuzzy pseudo CI-filter are checked.

**Definition 4.1.** A fuzzy set  $\mu$  in  $X$  is called a fuzzy pseudo q-CI-filter of  $X$  if it satisfies (FF1) and for all  $x, y, z \in X$ .

$$(qFF2) \mu(x \rightarrow z) \geq \mu((x \rightsquigarrow y) \rightarrow z) \wedge \mu(y),$$

$$(qFF3) \mu(x \rightsquigarrow z) \geq \mu((x \rightarrow y) \rightsquigarrow z) \wedge \mu(y).$$

**Example 4.2.** Let  $X = \{1, a, b, c\}$ . Define the operations " $\rightarrow$ " and " $\rightsquigarrow$ " on  $X$  as follows:

$\rightarrow$	1	a	b	c
1	1	a	b	c
a	1	1	b	b
b	1	1	1	b
c	1	1	1	1

$\rightsquigarrow$	1	a	b	c
1	1	a	b	c
a	1	1	b	c
b	1	1	1	a
c	1	1	1	1

$(X, \rightarrow, \rightsquigarrow, 1)$  is a pseudo CI-algebra.

$$\mu(x) = \begin{cases} 0.7 & \text{if } x = 1 \\ 0.3 & \text{if } x \in \{a, b, c\}. \end{cases}$$

is a fuzzy pseudo q-CI-filter of  $X$ .

**Proposition 4.3.** Every fuzzy pseudo q-CI-filter  $\mu$  of  $X$  for all  $x, y \in X$  satisfies the following:

$$\mu(x \rightarrow z) \geq \mu((x \rightsquigarrow 1) \rightarrow z),$$

$$\mu(x \rightsquigarrow z) \geq \mu((x \rightarrow 1) \rightsquigarrow z).$$

**Proof.** Let  $x, y \in X$ . Putting  $y := 1$  in (qFF2) and using (FF1), we have,

$$\mu(x \rightarrow z) \geq \mu((x \rightarrow 1) \rightsquigarrow z) \wedge \mu(1) = \mu((x \rightarrow 1) \rightsquigarrow z),$$

and if putting  $y := 1$  in (qFF3) by using (FF1), we have,

$$\mu(x \rightsquigarrow z) \geq \mu((x \rightsquigarrow 1) \rightarrow z) \wedge \mu(1) = \mu((x \rightsquigarrow 1) \rightarrow z).$$

This completes the proof.

**Proposition 4.4.** Every fuzzy pseudo q-CI-filter of  $X$  is a fuzzy pseudo CI-filter of  $X$ .

**Proof.** Let  $\mu$  be a fuzzy pseudo q-CI-filter of  $X$ . Taking  $x = 1$  in (qFF3) and using (pCI2), we have,

$$\mu(z) = \mu(1 \rightsquigarrow z) \geq \mu(1 \rightsquigarrow y \rightarrow z) \wedge \mu(y) = \mu(y \rightarrow z) \wedge \mu(y).$$

for all  $x, y \in X$ . Therefor  $\mu$  is a fuzzy pseudo CI-filter of  $X$ .

In the example below, we show that the conversely of this proposition is not true

**Example 4.5.** In Example (2.2)  $\mu$  is a fuzzy pseudo CI-filter. Since  $\mu(a \rightarrow (b \rightsquigarrow 1) \wedge \mu(1) = \mu(1) \wedge \mu(1) = 0.7$ , and  $\mu(a \rightarrow b) = \mu(b) = 0.6$ , so,  $\mu(a \rightarrow b) = 0.6 < 0.7 = \mu(a \rightarrow (b \rightsquigarrow 1) \wedge \mu(1)$ . Therefor  $\mu$  is not fuzzy pseudo q-CI-filter.

We add a condition such that the conversely of (4.4) is true.

**Proposition 4.6.** If a fuzzy pseudo CI-filter  $\mu$  of  $X$  satisfies the following conditions:

- (i)  $\mu(x \rightarrow (y \rightsquigarrow z)) \geq \mu((x \rightsquigarrow y) \rightarrow z)$ ,
- (ii)  $\mu(x \rightsquigarrow (y \rightarrow z)) \geq \mu((x \rightarrow y) \rightsquigarrow z)$ .

for all  $x, y, z \in X$ , then  $\mu$  is a fuzzy pseudo q-filter of  $X$ .

**Proof.** Let  $\mu$  be a fuzzy pseudo CI-filter of  $X$  that satisfies (i), (ii). For any  $x, y, z \in X$ , it follows from (pFF3), (pCI3) and (i) that  $\mu(x \rightarrow z) \geq \mu(y \rightsquigarrow (x \rightarrow z)) \wedge \mu(y) = \mu(x \rightarrow (y \rightsquigarrow z)) \wedge \mu(y) \geq \mu((x \rightsquigarrow y) \rightarrow z) \wedge \mu(y)$ . and  $\mu(x \rightsquigarrow z) \geq \mu(y \rightarrow (x \rightsquigarrow z)) \wedge \mu(y) = \mu(x \rightsquigarrow (y \rightarrow z)) \wedge \mu(y) \geq \mu((x \rightarrow y) \rightsquigarrow z) \wedge \mu(y)$ . Then  $\mu$  is a fuzzy pseudo q-filter of  $X$ .

**Proposition 4.7.** Let  $\mu$  be a fuzzy pseudo CI-filter of  $X$  which for all  $x, y \in X$  satisfies:

$$\mu(x \rightarrow y) \geq \mu(y) \quad \text{and} \quad \mu(x \rightsquigarrow y) \geq \mu(y). \quad (*)$$

Then  $\mu$  is a fuzzy pseudo q-CI-filter of  $X$ .

**Proof.** For  $x, y, z \in X$ . Using (pFF2) and (\*), we have,

$$\mu(x \rightarrow z) \geq \mu(z) \geq \mu((x \rightsquigarrow y) \rightarrow z) \wedge \mu(x \rightsquigarrow y) \geq \mu((x \rightsquigarrow y) \rightarrow z) \wedge \mu(y),$$

and,

$$\mu(x \rightsquigarrow z) \geq \mu(z) \geq \mu((x \rightarrow y) \rightsquigarrow z) \wedge \mu(x \rightarrow y) \geq \mu((x \rightarrow y) \rightsquigarrow z) \wedge \mu(y).$$

that  $\mu$  is a fuzzy pseudo q-CI-filter of  $X$ .

**Definition 4.8.** A fuzzy set  $\mu$  is called fuzzy a-CI-filter of  $X$  if it satisfies (pFF1) and for all  $x, y, z \in X$ ;

- (aFF1)  $\mu(x \rightarrow z) \geq \mu((z \rightsquigarrow 1) \rightarrow (y \rightsquigarrow x)) \wedge \mu(y)$ ,
- (aFF2)  $\mu(x \rightsquigarrow z) \geq \mu((z \rightarrow 1) \rightsquigarrow (y \rightarrow x)) \wedge \mu(y)$ .

**Lemma 4.9.** Let  $\mu$  be a fuzzy a-CI-filter of a  $X$  then for all  $x, y, z \in X$  the following statements hold,

- (1)  $\mu(x \rightarrow y) \geq \mu((y \rightsquigarrow 1) \rightarrow x)$ , and  $\mu(x \rightsquigarrow y) \geq \mu((y \rightarrow 1) \rightsquigarrow x)$ .
- (2)  $\mu(x) = \mu(x \rightarrow 1) = \mu(x \rightsquigarrow 1)$ .
- (3)  $\mu((x \rightarrow 1) \rightarrow x) = \mu((x \rightsquigarrow 1) \rightsquigarrow x) = \mu(1)$

**proof.** (1) Put  $z := y$  and  $y := 1$  in definition (4.8).

(2) By definition (4.8), (pCI2) and proposition (16)(2.8)(4) we have,

$$\mu(x \rightarrow 1) \geq \mu((1 \rightsquigarrow 1) \rightarrow (1 \rightarrow x) \wedge \mu(1) = \mu(x) \wedge \mu(1) = \mu(x).$$

On the other hand,

$$\mu(x) = \mu(1 \rightsquigarrow x) \geq \mu((x \rightarrow 1) \rightsquigarrow (1 \rightarrow 1) \wedge \mu(1) = \mu((x \rightarrow 1) \rightsquigarrow 1) = \mu((x \rightarrow 1) \rightarrow 1) \geq \mu(x \rightarrow 1).$$

So  $\mu(x) = \mu(x \rightarrow 1) = \mu(x \rightsquigarrow 1)$ .

(3) From proposition (1.4) (4) and (aFF2),

$$\mu((x \rightarrow 1) \rightarrow x) = \mu((x \rightsquigarrow 1) \rightarrow x) \geq \mu((x \rightsquigarrow 1) \rightarrow (x \rightsquigarrow 1)) = \mu(1).$$

By this and (FF1),  $\mu((x \rightarrow 1) \rightarrow x) = \mu(x)$ . With similarly way  $\mu((x \rightsquigarrow 1) \rightsquigarrow x) = \mu(1)$

**Proposition 4.10.** Every fuzzy pseudo a-CI-filter of  $X$  is a fuzzy pseudo CI-filter of  $X$ .

**Proof.** Let  $\mu$  be a fuzzy pseudo a-CI-filter of  $X$ , and let  $x, y \in X$ . Then by using lemma (4.9)(2) and definition (4.8),

$$\mu(x) = \mu(x \rightsquigarrow 1) \geq \mu((1 \rightarrow 1) \rightsquigarrow (y \rightarrow x)) \wedge \mu(y) = \mu((1) \rightsquigarrow (y \rightarrow x)) \wedge \mu(y) = \mu(y \rightarrow x) \wedge \mu(y).$$

and

$$\mu(x) = \mu(x \rightarrow 1) \geq \mu((1 \rightsquigarrow 1) \rightarrow (y \rightsquigarrow x)) \wedge \mu(y) = \mu((1) \rightarrow (y \rightsquigarrow x)) \wedge \mu(y) = \mu(y \rightsquigarrow x) \wedge \mu(y).$$

This means that  $\mu$  is a fuzzy pseudo CI-filter of  $X$ .

**Proposition 4.11.** Let  $X$  be transitive pseudo CI-algebra,  $\mu$  be fuzzy pseudo CI-filter of  $X$  and for all  $x, y, z \in X$ ;

$$\mu(x \rightarrow y) \geq \mu((y \rightsquigarrow 1) \rightarrow x) \quad , \quad \mu(x \rightsquigarrow y) \geq \mu((y \rightarrow 1) \rightsquigarrow x).$$

Then  $\mu$  is a fuzzy a-CI-filter of  $X$ . (See Proposition (4.9) (1).)

**Proof.** Since  $X$  is transitive pseudo CI-algebra and by Proposition (1.5) (3),

$$\begin{aligned} ((y \rightarrow 1) \rightsquigarrow (z \rightarrow x)) \rightsquigarrow ((y \rightarrow 1) \rightsquigarrow x) &\geq (z \rightarrow x) \rightsquigarrow x \geq z, \\ ((y \rightsquigarrow 1) \rightarrow (z \rightsquigarrow x)) \rightarrow ((y \rightsquigarrow 1) \rightarrow x) &\geq (z \rightsquigarrow x) \rightarrow x \geq z. \end{aligned}$$

Since  $\mu$  is a fuzzy CI-filter, by Definition (2.1);

$$\begin{aligned} \mu((y \rightarrow 1) \rightsquigarrow x) &\geq \mu((y \rightarrow 1) \rightsquigarrow (z \rightarrow x)) \wedge \mu(z), \\ \mu((y \rightsquigarrow 1) \rightarrow x) &\geq \mu((y \rightsquigarrow 1) \rightarrow (z \rightsquigarrow x)) \wedge \mu(z). \end{aligned}$$

By hypothesis,

$$\begin{aligned} \mu((x \rightsquigarrow y) \geq \mu((y \rightarrow 1) \rightsquigarrow x) &\geq \mu((y \rightarrow 1) \rightsquigarrow (z \rightarrow x)) \wedge \mu(z), \\ \mu((x \rightarrow y) \geq \mu((y \rightsquigarrow 1) \rightarrow x) &\geq \mu((y \rightsquigarrow 1) \rightarrow (z \rightsquigarrow x)) \wedge \mu(z). \end{aligned}$$

Therefor  $\mu$  is a fuzzy a-CI-filter.

**Proposition 4.12.** If  $X$  be transitive pseudo CI-algebra and  $\mu$  a fuzzy a-CI-filter of  $X$  then for all  $x, y, z \in X$ ,

$$\mu(y) \geq \mu(x) \wedge \mu(x \rightarrow y) \quad \text{and} \quad \mu(y) \geq \mu(x) \wedge \mu(x \rightsquigarrow y).$$

**Proof.** Since  $X$  is transitive pseudo CI-algebra therefor,

$$(y \rightarrow 1) \leq ((x \rightarrow y) \rightarrow (x \rightarrow 1)).$$

From Proposition (2.3),

$$\mu(y \rightarrow 1) \leq \mu((x \rightarrow y) \rightarrow (x \rightarrow 1)).$$

By Proposition (4.10)  $\mu$  is fuzzy pseudo CI-filter, hence by pFF3,

$$\mu(x \rightarrow 1) \geq \mu((x \rightarrow y) \rightarrow (x \rightarrow 1)) \wedge \mu(x \rightarrow y) \geq \mu(y \rightarrow 1) \wedge \mu(x \rightarrow y).$$

Therefor  $\mu(x) \geq \mu(y) \wedge \mu(x \rightarrow y)$ .

In the same way the other relation is true.

**Proposition 4.13.** Every fuzzy pseudo a-CI-filter  $\mu$  of  $X$  satisfies the following assertions,

- (i)  $\mu((x \rightsquigarrow z) \rightarrow y) \geq \mu((y \rightsquigarrow 1) \rightarrow (x \rightsquigarrow z))$ ,
- (ii)  $\mu((x \rightarrow z) \rightsquigarrow y) \geq \mu((y \rightarrow 1) \rightsquigarrow (x \rightarrow z))$ .

for all  $x, y, z \in X$ .

**Proof.** Let  $x, y, z \in X$ .

(i) It follows from (aFF1) and (FF1) that,

$$\mu((x \rightsquigarrow z) \rightarrow y) \geq \mu((y \rightsquigarrow 1) \rightarrow (1 \rightarrow (x \rightsquigarrow z))) \wedge \mu(1) = \mu((y \rightsquigarrow 1) \rightarrow (x \rightsquigarrow z)).$$

(ii) From (aFF2) and (FF1) it follows that,

$$\mu((x \rightarrow z) \rightsquigarrow y) \geq \mu((y \rightarrow 1) \rightsquigarrow (1 \rightarrow (x \rightarrow z))) \wedge \mu(1) = \mu((y \rightarrow 1) \rightsquigarrow (x \rightarrow z)).$$

The following example shows that a fuzzy pseudo q-CI-filter may not be fuzzy pseudo a-CI-filter.

**Example 4.14.** In example (4.3)  $\mu$  is a fuzzy pseudo q-CI-filter.  $\mu((b \rightsquigarrow a) \rightarrow c) = \mu(1 \rightarrow c) = \mu(c) = 0.3$  and  $\mu((c \rightsquigarrow 1) \rightarrow (b \rightarrow a)) = \mu(b \rightarrow a) = \mu(1) = 0.7$ . This show that,  $\mu((b \rightsquigarrow a) \rightarrow c) \not\geq \mu((c \rightsquigarrow 1) \rightarrow (b \rightarrow a))$ , and Proposition (4.13) is not holds. Therefor  $\mu$  is not a fuzzy pseudo a-CI-filter.

**Proposition 4.15.** Let  $\mu$  be a fuzzy q-CI-filter of a transitive pseudo CI-algebra  $X$ . If  $\mu$  satisfy the condition  $\mu(((x \rightarrow 1) \rightsquigarrow 1) \rightsquigarrow 1) \rightsquigarrow x = \mu(1)$  for all  $x \in X$ . Then  $\mu$  is a fuzzy a-CI-filter of  $X$ .

**Proof.** By Definition (4.1) (qFF2), we have:

$$\mu(x \rightarrow y) \geq \mu((x \rightsquigarrow ((y \rightsquigarrow 1) \rightarrow x)) \rightarrow y) \wedge \mu((y \rightsquigarrow 1) \rightarrow x).$$

BY (1.1) (PCI3) and (pCI1),

$$(x \rightsquigarrow ((y \rightsquigarrow 1) \rightarrow x)) \rightarrow y = ((y \rightsquigarrow 1) \rightarrow (x \rightarrow x)) \rightarrow y = ((y \rightsquigarrow 1) \rightarrow 1) \rightarrow y.$$

By condition,  $\mu((x \rightsquigarrow ((y \rightsquigarrow 1) \rightarrow x)) \rightarrow y) = \mu(((y \rightsquigarrow 1) \rightarrow 1) \rightarrow y) = \mu(1)$ .

So,  $\mu(x \rightarrow y) \geq \mu(1) \wedge \mu((y \rightsquigarrow 1) \rightarrow x) = \mu((y \rightsquigarrow 1) \rightarrow x)$ . By Proposition (4.11)  $\mu$  is a fuzzy a-CI-filter of  $X$ .

## REFERENCES

- [1] S.S. Ahn, Y.H. So, *On filters and upper sets in BE-algebras*. Sci. Math. Jpn, 68 (2008), 279–285.
- [2] S. S. Ahn, J. S. Han, *On Fuzzy Positive Implicative Filters in BE-algebras*, The Scientific World Journal 2014 (2014), 1–5, Article ID 92916. 1
- [3] [9] A. borumand Saeid, A. Rezaei, R. A. Borzooei, *Some types of filters in BE-algebras*, Math. Comput. Sci. 7 (2013), 341-352. 1
- [4] A. Borumand Saeid, A. Rezaei, R.A. Borzoei, *Some types of filters in BE-algebras*. math, comput. Sci. 7(3) (2013), 341-352.
- [5] R.A. Borzooei, A. Borumand Saeid, A. Rezaei, A. Radfar, R. Ameri, *On pseudo-BE argebras*. Discuss Math Gen Algebra Appl 33 (2013), 95– 108.
- [6] W.A.Dudek, Y.B. Jun, *pseudo-BCI algebras*. East Asian Math.J 24(2) (2008), 187-190.
- [7] G. Dymek, *p-semisimple pseudo BCI-algebras*. J Mult Valued Logic Soft Comput 19 (2012), 461-474.
- [8] G. Dymek, A. Walendziak, *Fuzzy Filters of BE-algebras*, Math. Slovaca 63no. 5, (2013), 935-946. 1
- [9] Q.P. Hu, X. Li, *On BCH-algebras*. Math. Semin. Notes 11 (1983), 313-320. 1
- [10] K. Iséki, *An algebra related with a propositional calculus*. Proc. Jpn. Acad. 42 (1966), 26-29. 1
- [11] H.S. Kim, Y.H. Kim, *on BE-algebras*. sci. Math. Jpn. 66 (2007), 113-116. 1
- [12] L.Z. Liu, K.T. Li, *Fuzzy filters of BL-algebras*, Information Sciences 173 (2005), 141–154. 1
- [13] B.L. Meng, *On filters in BE-algebras*, Sci. Math. Jpn.71 (2010), 201–207. 1
- [14] B. L. Meng, *CI-algebras*, *Sci Math Japon*, 71 no.1, (2010), 11–17. 1
- [15] A. Rezaei, A. Borumand Saeid, A. Yousefi Sikari Saber, *On pseudo-CI algebras*. Soft Comput 23(13) (2019), 4643–4654. 1, 1.4
- [16] N.Shojaei, A.Borumand Saeid, *Some Result On Pseudo CI-filters*, In press. 1 (2020) 1-2. 1, 1.1, 1.2, 1.3, 1.5
- [17] Y. Xu and K.Y. Qin, *On filters of lattice implication algebras*, The Journal of Fuzzy Mathematics 1 (1993), 251–260. 1
- [18] A. Walendzias, *Pseudo BCH-algebras*. Discuss Math Gen Algebra Appl35 (2015), 5–19.
- [19] A. Walendziak, A. Rezaei, *Fuzzy filters of pseudo-BE algebras*, Afr. Mat. 31 (2019), 739–750.
- [20] W. Wang, X.L. Xin, *On fuzzy filters of pseudo-BL algebras*, Fuzzy Sets and Systems. 162 (2011), 27–38. 1
- [21] L.A. Zadeh, *Fuzzy sets*, Inf. Control. 8 (1965), 338–353. 1

<sup>1</sup> DEPARTMENT OF MATHEMATICS, ISLAMIC AZAD UNIVERSITY, KERMAN BRANCH,, KERMAN, IRAN.

*Email address:* n.shojaee64@yahoo.com

<sup>2</sup> DEPARTMENT OF PURE MATHEMATICS, FACULTY OF MATHEMATICS AND COMPUTER, SHAHID BAHONAR UNIVERSITY OF KERMAN,, KERMAN, IRAN.

*Email address:* arsham@uk.ac.ir

<sup>3</sup> DEPARTMENT OF PURE MATHEMATICS, FACULTY OF MATHEMATICS AND COMPUTER, SHAHID BAHONAR UNIVERSITY OF KERMAN,, KERMAN, IRAN.

*Email address:* babaei@iauk.ac.ir